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Q [m3/h] 500 1 [m]
MKG # 7 x,Y)
Qm’ /h] Q Q
V[m/g=———+—, ,
[n/s] 6.5 ' S[m?] x 3600 (X-15)-(Y-15)x075x3600" (X -30)-(Y—30)x 08x 3600
)
[ 1
(H,HS,VH,VHS) V[m/s] 75[%]
( S ) V[m/s] 80[%]
[m/s]
No [m/s] [m/s]
1 2.5 2.0 3.0 1.5 2.0 1.5 1.0
2 3.0 2.0 3.5 1.5 2.0 2.0 1.5
3 3.0 2.0 3.5 1.5 2.0 2.0 1.5
4 3.0 2.5 3.5 1.5 2.0 2.0 1.5
5 3.0 2.5 3.5 1.5 2.0 2.0 1.5
6 3.5 3.0 4.0 2.0 2.0 2.5 2.0
7 3.5 3.5 4.0 2.5 2.0 2.5 2.0
8 4.0 3.5 5.0 2.5 3.5 3.0 2.5
9 4.0 3.5 5.0 2.5 3.5 3.0 2.5
10 4.0 3.5 5.0 2.5 3.5 3.0 2.5
11 4.0 3.5 4.0 2.5 3.5 2.0 1.5
12 4.0 4.0 4.0 2.5 3.5 2.0 1.5
13 3.5 3.0 4.0 2.0 3.5 2.0 1.5
14 5.0 6.0 7.0 3.0 3.0 4.0 3.0
15 5.0 5.0 6.0 3.0 5.0 3.0 2.5
16 3.5 3.0 4.0 2.5 5.0 2.0 2.0
17 5.0 7.0 8.0 4.0 5.0 5.0 4.0
18 5.0 5.0 5.0 0.0 4.0 3.0 2.5
19 0.0 5.0 5.0 0.0 4.0 3.0 2.5
20 0.0 0.0 0.0 0.0 0.0 3.0 2.5
S [m2] S [m2] S [m2] S [m2]
S [m2] BL 1m CL im
C2-12.5 E2-12.5| 0.0127 MKG # 3| 0.0033 PK # 3| 0.0011 VTL 1 0.0196 KL 1 0.0196
15 15 | 0.0181 # 4| 0.0064 # 4| 0.0020 2 0.0392 2 0.0290
20 20 | 0.0320 # 5| 0.0104 # 5| 0.0032 3 0.0588 3 0.0390
25 25 | 0.0499 # 6| 0.0154 # 6] 0.0042 4 0.0784 4 0.0530
30 30 | 0.0716 # 7| 0.0214 # 7| 0.0061 5 0.0630
35 35 | 0.0932 # 8| 0.0284 # 8| 0.0079 6 0.0730
37.5 - 0.1122 #10| 0.0452 #10| 0.0131 8 0.0970
40 - 0.1276 #12| 0.0661 #12| 0.0206 10 0.1210
45 - 0.1612 #14| 0.0908 #14| 0.0260 12 0.1410
#16| 0.1195 #16| 0.0415 14 0.1650
#18| 0.1521 #18| 0.0531 16 0.1850
#20| 0.1880 #20| 0.0755 18 0.2090
20 0.2330
(G (D) a
H |(W+15)x(H+15) (W+21)x(H+21) or° 1 78[%]
HS |(W+15)x(H+15) S | (W+30)x(H+30)x80[%] o[° 1+22[° ] 75[%]
VH | (W+15)x(H+15) O[° 1+22[° 1+42[° ] 68[%]
VHS | (W+15)x (H+15) 3600x xa O[° J+22[° J+42[° 1+55[° 1 -
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